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JN=| 110,726(-78)
] 53,568 A(-37)
i 57,158 A(-41)
HHEE 42,4781 (+51)
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ETRIAOER Frk21F4H1H
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i1 AQ 18R S1% 18R it R | HEES | 8
JE\E=H] 429 -1 196 -1 233 0 188 0
EH] 227 5 97 1 130 4 92 2
E=H] 150 1 64 1 86 0 69 0
KEH] 52 0 16 0 36 0 27 0
UNEL] 8 0 1 0 7 0 4 0
=] 86 0 34 0 52 0 19 0
Eayestil] 61 0 11 0 50 0 13 0
Fo | L ] 536 3 264 3 272 0 305 3
FEH] 22 2 13 0 9 2 11 0
1] 217 -5 88 -2 129 -3 81 -2
] 76 -3 40 -2 36 -1 41 0
] 228 -4 109 -3 119 -1 110 -3
ZH] 132 0 57 0 75 0 64 0
e SHT 552 -9 290 -4 262 -5 263 -3
SrH] 73 0 35 0 38 0 38 0
1GAaH] 15 -1 11 -1 4 0 5 0
FASEH] 151 1 73 0 78 1 89 -1
—&FT 0 0 0 0 0 0 0 0
NET 99 -2 47 1 52 -3 46 -1
T&ET 150 2 74 2 76 0 54 1
N&ET 81 3 38 2 43 1 38 2
NET 253 -1 111 -1 142 0 87 1
T&HT 242 1 104 -2 138 3 119 0
1ok ] 363 0 150 0 213 0 189 2
SiEH] 2,610 28| 1,268 21| 1,342 7 1,031 11
RFRE] 3,508 5( 1,651 -1 1,857 6| 1,347 11
] 1,540 5 739 1 801 4 527 9
R HE] 1,851 -26 927 -17 924 -9 756 -9




FrERHE] 502 6 231 3 271 3 221 3
FHATH] 3,493 -8 1,770 -3 1,723 -5 1,544 0
AT 2,336 -4 1,137 -8 1,199 4 902 -1
VEIRH] 2,015 2| 1,007 2| 1,008 0 519 4
Ll Bl 4,778 -19] 2,344 -5| 2,434 -141 1,739 0
MEigEs] 2,090 3] 1,039 2| 1,051 1 791 2
ABZRH] 9,441 -5| 4,642 2| 4,799 -7 3,456 1
=M 3,633 7| 1,782 7| 1,851 0| 1,369 11
[ ERHET 1,094 3 540 0 554 3 449 1
EREFH] SR — 2,484 -8 1,186 0] 1,298 -8 815 0
EREFH]ER 7Y 1,775 0 857 2 918 -2 634 2
EREFHT PG 7> 558 4 273 3 285 1 197 2
E7KH] 5,641 -3 2,672 -11] 2,969 8 1,849 2
g lii) 106 2 96 2 10 0 93 2
S 3RH] 68 0 42 0 26 0 42 0
ETRE—TH 427 -1 214 -1 213 0 192 0
EIREI”TH 301 9 136 7 165 2 133 2
ETRE=TH 1 0 1 0 0 0 1 0
ETREIMTH 0 0 0 0 0 0 0 0
ETREATH 239 2 111 0 128 2 74 -1
rES 0 0 0 0 0 0 0 0
TEE—TH 446 1 194 0 252 1 202 1
TEEIZTH 767 -9 356 -5 411 -4 343 -2
TEE=TH 321 -13 153 -6 168 -7 147 -4
WERE—TH 504 2 229 2 275 0 221 1
WEE—TH 726 -2 354 -2 372 0 337 -3
WERE=TH 464 -10 238 -9 226 -1 217 -6
EMHFRE—T B 335 0 146 -1 189 1 146 -1
EMAFRET — T B 510 3 239 1 271 2 238 1
JtFEILE—TH 187 0 78 0 109 0 87 -1
EFLETZTH 431 2 197 3 234 -1 185 0
A —TH 328 2 175 1 153 1 147 2
FAAE —TH 499 5 242 -1 257 6 244 0
FEH—TH 128 2 54 1 74 1 54 0
FEH—TH 318 2 134 1 184 1 146 0
[REEIH 351 2 162 0 189 2 210 0
Wl —TH 135 7 62 3 73 4 64 3
e —TH 286 -1 117 -1 169 0 127 1
PR —T B 478 -12 218 -5 260 -7 181 -2
HRFET =T H 317 -11 150 -5 167 -6 139 -2




PRI =TH 500 -5 235 -2 265 -3 233 -2
FRAFETIL T B 353 2 156 2 197 0 155 2
FRETRT B 579 1 251 1 328 0 212 0
¥FrEE—TH 229 -5 115 -5 114 0 107 -3
FUEEI”TH 343 -4 184 0 159 -4 165 -3
HIIEEE—TH 476 4 219 4 257 0 227 1
AIEEE —TH 326 0 151 -3 175 3 130 0
BEE—TH 132 0 61 0 71 0 67 0
ERE"TH 653 2 296 -2 357 4 293 4
BRE=TH 579 0 280 1 299 -1 228 0
IEREEUT B 242 -2 116 -1 126 -1 103 -1
EEEATH 729 -3 332 -2 397 -1 345 -2
Kt —TH 269 -4 128 -3 141 -1 100 -1
XKimBl —TH 222 0 110 0 112 0 86 0
RFH—TH 144 13 68 9 76 4 61 4
RFHZTH 7 0 4 0 3 0 4 0
RFH=TH 226 7 118 2 108 5 96 3
TEEIA—TH 635 5 302 2 333 3 223 3
TERETFE T H 303 2 140 1 163 1 112 1
TEEA=TH 201 -2 111 2 90 -4 81 1
TaEIFEMT B 499 10 244 7 255 3 191 6
TEEAATH 672 14 317 5 355 9 245 2
TaE]FENT B 416 4 187 1 229 3 172 1
TEEAETH 605 -16 292 -5 313 -11 272 -5
T8I\ TH 659 -4 306 -6 353 2 271 0
TERER—TH 1,358 -8 653 -3 705 -5 574 -1
THREERTTH 390 0 196 0 194 0 160 3
TERER=TH 674 -9 331 -6 343 -3 271 -4
TARETRMT B 1,086 -26 524 -11 562 -15 435 -13
THREERATH 1,193 -1 724 2 469 -3 677 9
TERETERANTH 660 -3 345 -3 315 0 331 -2
TZRERETH 1,506 21 730 5 776 16 598 6
TERETERN\TH 1,381 -3 651 -4 730 1 604 -2
TEREIRAT B 544 -1 275 1 269 -2 100 -1
T2aE]E—TH 73 -4 41 -2 32 -2 52 -2
TEEIEZTH 61 2 34 1 27 1 45 1
I\ 5t 81,150 -49| 39,313 -35| 41,837 -14 32,094 46
AEH]E 140 0 57 0 83 0 77 0
AEHTA 122 -4 63 -1 59 -3 59 -1
AEHTERE 13 0 4 0 9 0 10 0




ARSH/NBR 137 2 60 1 77 1 65 2
AEHKH 12 0 5 0 7 0 8 0
AEHTEH 76 0 31 0 45 0 37 0
AEH] R 13 -1 6 -1 7 0 7 0
AKEHTE /R 9 0 2 0 7 0 7 0
45 17 0 8 0 9 0 11 0
AREHXEST 539 -3 236 -1 303 =2 281 1
IN= T AVES] 37 -1 20 -1 17 0 23 -1
IN= PN 47 -1 21 -1 26 0 29 -1
IN=EIE0) 37 0 15 0 22 0 21 0
[ SHTERES 40 0 21 0 19 0 25 0
IN=TI=FN 63 -3 29 -2 34 -1 35 0
L SHTHH 36 0 15 0 21 0 19 0
IN= L] 35 0 21 0 14 0 17 0
[LERVNFS 53 2 30 2 23 0 24 0
FEH] 42 0 22 0 20 0 30 0
[ S X &St 390 -3 194 = 196 =1l 223 =2
SUEEREET 929 -6 430 -3 499 -3 504 -1
e X T ] B 1,401 9 649 3 752 6 493 4
TEIRET EHE T 767 -4 336 -1 431 -3 255 -1
e X T ] EH ER 1,294 -13 632 -4 662 -9 421 -6
&R 1,117 1 535 -1 582 2 378 1
/e 1,446 0 693 3 753 -3 455 1
TEIRET SRAET 1,170 0 562 3 608 -3 420 1
T IE] = AR 4,012 13 1,921 4 2,091 9 1,336 4
TR X EEST 11,207 6| 5,328 7| 5,879 -1 3,758 4
ERILLIE] FIRESF 2,058 -2 971 -2| 1,087 0 656 2
ERILLIB] AESF 2,561 -5 1,271 3| 1,290 -8 853 -3
ERILLIETER/IM 2,117 -3| 1,047 -4 1,070 1 784 2
BRI BT PaR T 1,512 0 753 4 759 -4 514 0
BRI F] S B 1,040 -22 513 -6 527 -16 355 -2
ERLLIET) 1R 2,349 of 1,157 0] 1,192 0 812 1
ERILIE]ER 1T 5,803 3| 2,785 -1 3,018 4 2,148 2
ERILIMBX &S 17,440 -29| 8,497 -6| 8,943 -23| 6,122 2
a 5t 110,726 -78| 53,568 -37| 57,158 -41| 42,478 51




